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1m = 100 cm

whA] 5m x 5m = 500 cm X 500 cm
= 250000 cm? YTt
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HET 290000
HED 29000000
HED 340000
HE D 3400
HE D 34

1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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1kg = 1000g , 1t = 1000kg
1t = 1000kg = 1000000 g
1t = 1000kg = 1000000 g
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garold|A ¢ = 16404 2624 kg & S-St RL U
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(1) Aol A & 1872 + 12 = 156( kg)
(2) =tolu] A : 2624 + 16 = 164(kg)
(3> lad Bt Aol §=olu7t § eB= g=oly o]

T O O

S48 F AT B 5 gyt




U5 o [Fol [F5[ A8 4D [ B2
96 | 76 | 80 | 82 | 85

(FA)=(Ba)x (L= ) o] B2

85 % 6 = 510(%)

Zo] 42 [t ot

92+ ]+ 96+ 76+ 80 +82) = 85 x 6| L&
[ ]=85%6-(92+ 96 + 76 + 80 + 82)

[ ]=510-426,

[]=84R)
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(15000 + 24000 + 48000 + 36000) + 4
= 123000 + 4 = 30750(E)
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6.5t = 6500 kg
gk Azt £A1 1 6500 + 250 = 26( kg)
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(AR AFA ] BA)= (FF)x (P8 5)

= 2% 1200 = 2400(kg)

(28t L%ﬂ/ﬂ ne wFA o 2

— (AR WFA ] FA)= (shde] %)

= 2400 + 6 = 400(kg)

§H9] 4= (28hA0IA L HFA o BA)+ (D)
=400+ 50 = 8 (%)
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o] B2 ZF27F 6m, M27F 400cm )1 AAFAE 2

400cm — 4m
6 x 4 = 24(m?)
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D 12ha @) 1200000 m?
® 0.12km?2 @ 1200a

® 1200000000 cm?
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SR E m? 2 FYoiA vl

@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?
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(160 + 260) X 80 + 2 4 360 x 100 + 2
= 34800 m?2 = 348 a = 0.0348 km?
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= 600 x 450 + 2 = 135000( m?)

(i#ﬁﬂ E10])= 148 x 126 = 18648( m?)
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= 135000 — 18648 = 116352( m?)
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3600000 + 600 = 6000( m) YTt




23. Z7]Ee] A= 1.5t ©]AL, el EF-= 30kg AUt 271
o] ZAI= g0l B9l & ujelx] F5HA L.
» & Hj

> HE D 50H

1.5t = 1500 kg
— 1500 + 30 = 50(HH)
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